
1) (-5113) + (-2129)

Answer: ____________

2) 1386 ÷ 99

Answer: ____________

3) 410 ÷ 10

Answer: ____________

4) (-840) ÷ 30

Answer: ____________

5) Simplify 13:79

Answer: ____________

6) 7641 + (-3893)

Answer: ____________

7) Share 56 in the ratio 11:17

Answer: ____________

8) Find the mode of the following set of data:

107, 107, 155, 155, 155, 155, 116, 
116, 116, 137, 137, 137, 137

Answer: ____________

9) 9510 - 5115

Answer: ____________

10) (-44) x 64

Answer: ____________

11) (14 + 13) + 18 + 15

Answer: ____________

12) 31/7 + 25/8

Answer: ____________

13) Simplify 55:14

Answer: ____________

14) 9121 + 7317

Answer: ____________

15) 4243 x 7713

Answer: ____________
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16) Find the range of the following set of data:

8, 13, 10, 6, -6

Answer: ____________

17) 1728 ÷ 18

Answer: ____________

18) (-38) x (-58)

Answer: ____________

19) 4104 + 1082

Answer: ____________

20) (-240) ÷ (-24)

Answer: ____________

Total: ___ / 20
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Answers:

1) -7242 2) 14 3) 41 4) -28 5) 13 : 79 6) 3748 7) 2 : 54

8) 155 9) 4395 10) 11) 60 12) 731/56 13) 55 : 14 14) 16438

15) 32726259 16) 19 17) 96 18) 19) 5186 20) 10
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